

CAM 1422

The search for differential equations for certain sets of orthogonal polynomials

Roelof Koekoek

Faculty of Technical Mathematics and Informatics, Delft University of Technology, Delft, Netherlands

Received 25 November 1991

Abstract

Koekoek, R., The search for differential equations for certain sets of orthogonal polynomials, Journal of Computational and Applied Mathematics 49 (1993) 111–119.

We look for differential equations of the form $\sum_{i=0}^{\infty} c_i(x) y^{(i)}(x) = 0$, where the coefficients $\{c_i(x)\}_{i=0}^{\infty}$ are continuous functions on the real line and where $\{c_i(x)\}_{i=1}^{\infty}$ are independent of n , for the generalized Jacobi polynomials $\{P_n^{\alpha, \beta, M, N}(x)\}_{n=0}^{\infty}$ and for generalized Laguerre polynomials $\{L_n^{\alpha, M, N}(x)\}_{n=0}^{\infty}$ which are orthogonal with respect to an inner product of Sobolev type. We use a method involving computer algebra packages like Maple and Mathematica and we will give some preliminary results.

Keywords: Differential equations; Sobolev–Laguerre polynomials; generalized polynomials

1. Introduction

In this paper we consider the polynomials $\{P_n^{\alpha, \beta, M, N}(x)\}_{n=0}^{\infty}$ (see [7]) which are orthogonal on the interval $[-1, 1]$ with respect to the weight function

$$\frac{\Gamma(\alpha + \beta + 2)}{2^{\alpha + \beta + 1} \Gamma(\alpha + 1) \Gamma(\beta + 1)} (1 - x)^{\alpha} (1 + x)^{\beta} + M\delta(x + 1) + N\delta(x - 1),$$

where $\alpha > -1$, $\beta > -1$, $M \geq 0$ and $N \geq 0$.

We also consider the polynomials $\{L_n^{\alpha, M, N}(x)\}_{n=0}^{\infty}$ (see [6]) which are orthogonal with respect to the Sobolev inner product

$$\langle f, g \rangle = \frac{1}{\Gamma(\alpha + 1)} \int_0^{\infty} x^{\alpha} e^{-x} f(x) g(x) dx + Mf(0)g(0) + Nf'(0)g'(0),$$

where $\alpha > -1$, $M \geq 0$ and $N \geq 0$.

Correspondence to: Dr. R. Koekoek, Faculty of Technical Mathematics and Informatics, Delft University of Technology, Mekelweg 4, 2628 CD Delft, Netherlands. e-mail: koekoek@twi.tudelft.nl.

We are looking for differential equations of the form

$$\sum_{i=0}^{\infty} c_i(x) y^{(i)}(x) = 0,$$

satisfied by these sets of orthogonal polynomials, where the coefficients $\{c_i(x)\}_{i=0}^{\infty}$ are continuous functions on the real line and $\{c_i(x)\}_{i=1}^{\infty}$ are independent of the degree n .

In [2] we found a differential equation of the above type for the generalized Laguerre polynomials $\{L_n^{\alpha, M}(x)\}_{n=0}^{\infty}$ (see [7]) for all $\alpha > -1$. These polynomials form a special case of the above-mentioned Sobolev–Laguerre polynomials, since $L_n^{\alpha, M, 0}(x) = L_n^{\alpha, M}(x)$. The reader is referred to [2] and Section 2 of this paper for more results concerning the coefficients of this differential equation.

The differential equation found in [2] was computed by hand, without the help of computers. This is nearly impossible for these other cases. We need computers to handle the very huge expressions we have to deal with.

The method we used to find the results listed in this paper is explained in [4]. We refer to this report for more details.

2. The infinite-order Laguerre differential equation

In [2] the following theorem was proved without the use of computers.

Theorem 1. For $M > 0$ the polynomials $\{L_n^{\alpha, M}(x)\}_{n=0}^{\infty}$ satisfy a unique differential equation of the form

$$M \sum_{i=0}^{\infty} a_i(x) y^{(i)}(x) + xy''(x) + (\alpha + 1 - x)y'(x) + ny(x) = 0, \quad (1)$$

where $\{a_i(x)\}_{i=0}^{\infty}$ are continuous functions on the real line and $\{a_i(x)\}_{i=1}^{\infty}$ are independent of n .

Moreover, the functions $\{a_i(x)\}_{i=0}^{\infty}$ are polynomials given by

$$\begin{cases} a_0(x) = \binom{n + \alpha + 1}{n - 1}, \\ a_i(x) = \frac{1}{i!} \sum_{j=1}^i (-1)^{i+j+1} \binom{\alpha + 1}{j - 1} \binom{\alpha + 2}{i - j} (\alpha + 3)_{i-j} x^j, \quad i = 1, 2, 3, \dots \end{cases} \quad (2)$$

Later we discovered that the coefficients $\{a_i(x)\}_{i=1}^{\infty}$ have the following interesting property.

Theorem 2. The coefficients $\{a_i(x)\}_{i=1}^{\infty}$ of the differential equation given by (1) and (2) satisfy

$$\sum_{i=1}^{\infty} a_i(x) = -\frac{\sin \pi \alpha}{\pi} \frac{x}{(\alpha + 2)(\alpha + 3)} {}_1F_1\left(\frac{1}{\alpha + 4} \middle| -x\right), \quad \alpha > -1.$$

For nonnegative integer values of α we have

$$\sum_{i=k}^{\infty} \binom{i}{k} a_i(x) = (-1)^{\alpha+k} a_k(-x), \quad k = 1, 2, 3, \dots$$

Note that this theorem implies for nonnegative integer values of α :

$$\sum_{i=1}^{\infty} a_i(x) = 0 \quad \text{and} \quad \sum_{i=1}^{\infty} i a_i(x) = (-1)^{\alpha+1} x.$$

The proof of this theorem can be found in [4].

3. Some preliminary results for the Sobolev–Laguerre polynomials

In this section we look for a differential equation of the form

$$\begin{aligned} M \sum_{i=0}^{\infty} a_i(x) y^{(i)}(x) + N \sum_{i=0}^{\infty} b_i(x) y^{(i)}(x) \\ + MN \sum_{i=0}^{\infty} c_i(x) y^{(i)}(x) + xy''(x) + (\alpha + 1 - x)y'(x) + ny(x) = 0, \end{aligned} \quad (3)$$

for the polynomials

$$y(x) = L_n^{\alpha, M, N}(x) = A_0 L_n^{(\alpha)}(x) + A_1 \frac{d}{dx} L_n^{(\alpha)}(x) + A_2 \frac{d^2}{dx^2} L_n^{(\alpha)}(x),$$

where the coefficients A_0 , A_1 and A_2 are defined by

$$\begin{cases} A_0 = 1 + M \binom{n+\alpha}{n-1} + \frac{n(\alpha+2) - (\alpha+1)}{(\alpha+1)(\alpha+3)} N \binom{n+\alpha}{n-2} \\ \quad + \frac{MN}{(\alpha+1)(\alpha+2)} \binom{n+\alpha}{n-1} \binom{n+\alpha+1}{n-2}, \\ A_1 = M \binom{n+\alpha}{n} + \frac{(n-1)}{(\alpha+1)} N \binom{n+\alpha}{n-1} + \frac{2MN}{(\alpha+1)^2} \binom{n+\alpha}{n} \binom{n+\alpha+1}{n-2}, \\ A_2 = \frac{N}{(\alpha+1)} \binom{n+\alpha}{n-1} + \frac{MN}{(\alpha+1)^2} \binom{n+\alpha}{n} \binom{n+\alpha+1}{n-1}. \end{cases} \quad (4)$$

For details concerning these generalized Laguerre polynomials and their definition the reader is referred to [3,6].

Of course, since $L_n^{\alpha, M, 0}(x) = L_n^{\alpha, M}(x)$, the coefficients $\{a_i(x)\}_{i=0}^{\infty}$ are given by (2).

Although the general form is still an open problem so far, we know that the differential equation given by (3) is not unique as in the case of the differential equation (1). This is explained by the following theorem.

Theorem 3. *The polynomials $\{L_n^{\alpha, M, N}(x)\}_{n=1}^{\infty}$ satisfy the infinite-order differential equation*

$$\sum_{i=0}^{\infty} b_i^*(\alpha, x) y^{(i)}(x) + M \sum_{i=0}^{\infty} c_i^*(\alpha, x) y^{(i)}(x) = 0,$$

where

$$b_i^*(\alpha, x) = \frac{1}{i!} \sum_{j=0}^i (-1)^j \binom{i}{j} (\alpha + 1)_{i-j} x^j, \quad i = 0, 1, 2, \dots,$$

and

$$c_i^*(\alpha, x) = \frac{(-1)^i}{i!} x^i, \quad i = 0, 1, 2, \dots$$

The proof is very easy and is based on the observation that

$$\sum_{i=0}^{\infty} b_i^*(\alpha, x) D^{i+k} L_n^{(\alpha)}(x) = \frac{(-n)_k}{n \Gamma(k)}, \quad n \geq 1, \quad k = 0, 1, 2,$$

and

$$\sum_{i=0}^{\infty} c_i^*(\alpha, x) D^{i+k} L_n^{(\alpha)}(x) = \binom{n+\alpha}{n} \frac{(-n)_k}{(\alpha+1)_k}, \quad k = 0, 1, 2.$$

By using these formulas and the definition (4) of the coefficients A_0 , A_1 and A_2 the result follows immediately.

Again the reader is referred to the report [4] for more details.

In the special cases $\alpha = 0$, $\alpha = 1$ and $\alpha = 2$ differential equations of the form (3) are found explicitly. In these special cases of integer values of the parameter α we find a linear differential equation of formal order $4\alpha + 10$. By formal order we mean that for special cases ($M = 0$ or $N = 0$) the true order might be lower. We will not give all results here, but we again refer to [4] for all details.

As an example we give the result in the case $\alpha = 0$. In that case we have found the following linear differential equation of formal order 10:

$$\begin{aligned} & \frac{1}{60} M N x^5 y^{(10)}(x) + \frac{1}{12} M N (5x^4 - x^5) y^{(9)}(x) \\ & + \left[\frac{1}{24} M N (72x^3 - 45x^4 + 4x^5) - \frac{1}{12} N x^4 \right] y^{(8)}(x) \\ & + \left[\frac{1}{6} M N (36x^2 - 72x^3 + 20x^4 - x^5) - \frac{1}{3} N (4x^3 - x^4) \right] y^{(7)}(x) \\ & + \left[\frac{1}{12} M N (-252x^2 + 224x^3 - 35x^4 + x^5) + \frac{1}{2} N (-10x^2 + 9x^3 - x^4) \right] y^{(6)}(x) \\ & + \left[\frac{1}{60} M N (1680x^2 - 840x^3 + 75x^4 - x^5) + \frac{1}{6} N (-12x + 81x^2 - 33x^3 + 2x^4) \right] y^{(5)}(x) \\ & + \left[\frac{1}{24} M N (-420x^2 + 120x^3 - 5x^4) \right. \\ & \quad \left. + \frac{1}{12} N (24 + 36x - 150x^2 + 34x^3 - x^4) - \frac{1}{2} M x^2 \right] y^{(4)}(x) \\ & + \left[\frac{1}{3} M N (15x^2 - 2x^3) + \frac{1}{2} N (-6 - 2x + 9x^2 - x^3) + M (-2x + x^2) \right] y^{(3)}(x) \\ & + \left[-\frac{1}{2} M N x^2 + \frac{1}{2} N (2 - x^2) + \frac{1}{2} M (6x - x^2) + x \right] y''(x) + [1 - (M+1)x] y'(x) \\ & + \frac{1}{120} n [M N (n^2 - 1)(n+2)(2n+1) + 10 N n (n^2 - 1) + 60 M (n+1) + 120] y(x) = 0, \end{aligned}$$

for the polynomials

$$y(x) := L_n^{0,M,N}(x) = A_0 L_n(x) + A_1 L'_n(x) + A_2 L''_n(x),$$

with

$$L_n(x) := L_n^{(0)}(x) = \sum_{k=0}^n \frac{(-1)^k}{k!} \binom{n}{k} x^k, \quad n = 0, 1, 2, \dots,$$

and

$$\begin{cases} A_0 = 1 + Mn + \frac{1}{6}Nn(n-1)(2n-1) + \frac{1}{12}MNn^2(n^2-1), \\ A_1 = M + Nn(n-1) + \frac{1}{3}MNn(n^2-1), \\ A_2 = Nn + \frac{1}{2}MNn(n+1). \end{cases}$$

The results obtained in these three special cases give rise to the following conjecture.

Conjecture. If α is a nonnegative integer, the polynomials $\{L_n^{\alpha, M, N}(x)\}_{n=0}^{\infty}$ satisfy a differential equation of formal order $4\alpha + 10$ which is of the form

$$\begin{aligned} M \sum_{i=0}^{2\alpha+4} \alpha_i(x) y^{(i)}(x) + N \sum_{i=0}^{2\alpha+8} \beta_i(x) y^{(i)}(x) \\ + MN \sum_{i=0}^{4\alpha+10} \gamma_i(x) y^{(i)}(x) + xy''(x) + (\alpha + 1 - x)y'(x) + ny(x) = 0, \end{aligned}$$

where the coefficients $\{\alpha_i(x)\}_{i=1}^{2\alpha+4}$, $\{\beta_i(x)\}_{i=1}^{2\alpha+8}$ and $\{\gamma_i(x)\}_{i=1}^{4\alpha+10}$ are polynomials independent of n which satisfy

$$\sum_{i=1}^{2\alpha+4} \alpha_i(x) = \sum_{i=1}^{2\alpha+8} \beta_i(x) = \sum_{i=1}^{4\alpha+10} \gamma_i(x) = 0.$$

4. The generalized Jacobi polynomials

In this section we will deal with the problem of finding a differential equation for the generalized Jacobi polynomials $\{P_n^{\alpha, \beta, M, N}(x)\}_{n=0}^{\infty}$.

Since the well-known second-order differential equation for the classical Jacobi polynomials $\{P_n^{(\alpha, \beta)}(x)\}_{n=0}^{\infty}$ is given by

$$(1-x^2)y''(x) + [\beta - \alpha - (\alpha + \beta + 2)x]y'(x) + n(n + \alpha + \beta + 1)y(x) = 0,$$

it is clear that we look for a differential equation of the form

$$\begin{aligned} M \sum_{i=0}^{\infty} a_i(x) y^{(i)}(x) + N \sum_{i=0}^{\infty} b_i(x) y^{(i)}(x) + MN \sum_{i=0}^{\infty} c_i(x) y^{(i)}(x) \\ + (1-x^2)y''(x) + [\beta - \alpha - (\alpha + \beta + 2)x]y'(x) + n(n + \alpha + \beta + 1)y(x) = 0, \end{aligned}$$

where

$$y(x) = P_n^{\alpha, \beta, M, N}(x) = A_0 P_n^{(\alpha, \beta)}(x) + [A_1(1-x) - A_2(1+x)] \frac{d}{dx} P_n^{(\alpha, \beta)}(x)$$

and

$$\left\{ \begin{aligned} A_0 &= 1 + M \frac{\binom{n+\beta}{n-1} \binom{n+\alpha+\beta+1}{n}}{\binom{n+\alpha}{n}} + N \frac{\binom{n+\alpha}{n-1} \binom{n+\alpha+\beta+1}{n}}{\binom{n+\beta}{n}} \\ &\quad + MN \frac{(\alpha+\beta+2)^2}{(\alpha+1)(\beta+1)} \left(\frac{n+\alpha+\beta+1}{n-1} \right)^2, \\ A_1 &= \frac{M}{(\alpha+\beta+1)} \frac{\binom{n+\beta}{n} \binom{n+\alpha+\beta}{n}}{\binom{n+\alpha}{n}} + \frac{MN}{(\alpha+1)} \binom{n+\alpha+\beta}{n-1} \binom{n+\alpha+\beta+1}{n}, \\ A_2 &= \frac{N}{(\alpha+\beta+1)} \frac{\binom{n+\alpha}{n} \binom{n+\alpha+\beta}{n}}{\binom{n+\beta}{n}} + \frac{MN}{(\beta+1)} \binom{n+\alpha+\beta}{n-1} \binom{n+\alpha+\beta+1}{n}. \end{aligned} \right.$$

Here we used the same definition as in [7], but in a slightly different notation.

In this case the differential equation will be unique in its general form if it exists. We introduce the notation

$$\left\{ \begin{aligned} a_0(x) &= a_0(n, \alpha, \beta, x), & a_i(x) &= a_i(\alpha, \beta, x), \quad i = 1, 2, 3, \dots, \\ b_0(x) &= b_0(n, \alpha, \beta, x), & b_i(x) &= b_i(\alpha, \beta, x), \quad i = 1, 2, 3, \dots, \\ c_0(x) &= c_0(n, \alpha, \beta, x), & c_i(x) &= c_i(\alpha, \beta, x), \quad i = 1, 2, 3, \dots. \end{aligned} \right.$$

Since the polynomials $\{P_n^{\alpha, \beta, M, N}(x)\}_{n=0}^{\infty}$ satisfy the symmetry relation

$$P_n^{\alpha, \beta, M, N}(-x) = (-1)^n P_n^{\beta, \alpha, N, M}(x),$$

we have

$$\left\{ \begin{aligned} a_0(n, \alpha, \beta, -x) &= b_0(n, \beta, \alpha, x), \\ a_i(\alpha, \beta, -x) &= (-1)^i b_i(\beta, \alpha, x), \quad i = 1, 2, 3, \dots, \end{aligned} \right.$$

and

$$\left\{ \begin{aligned} c_0(n, \alpha, \beta, -x) &= c_0(n, \beta, \alpha, x), \\ c_i(\alpha, \beta, -x) &= (-1)^i c_i(\beta, \alpha, x), \quad i = 1, 2, 3, \dots. \end{aligned} \right.$$

The general form is still an open problem, but the symmetric case $\beta = \alpha$ and $N = M$ turns out to be much less difficult. If $\beta = \alpha$ and $N = M$, we can choose $c_i(x) = 0$ for all $i = 0, 1, 2, \dots$.

In fact we have shown that there exists a differential equation of the form

$$M \sum_{i=0}^{\infty} a_i(x) y^{(i)}(x) + (1-x^2)y''(x) - 2(\alpha+1)xy'(x) + n(n+2\alpha+1)y(x) = 0, \quad (5)$$

where

$$y(x) = P_n^{\alpha, \alpha, M, M}(x) = C_0 P_n^{(\alpha, \alpha)}(x) - C_1 x \frac{d}{dx} P_n^{(\alpha, \alpha)}(x) \quad (6)$$

and

$$\begin{cases} C_0 = 1 + M \frac{2n}{(\alpha+1)} \binom{n+2\alpha+1}{n} + 4M^2 \binom{n+2\alpha+1}{n-1}^2, \\ C_1 = \frac{2M}{(2\alpha+1)} \binom{n+2\alpha}{n} + \frac{2M^2}{(\alpha+1)} \binom{n+2\alpha}{n-1} \binom{n+2\alpha+1}{n}. \end{cases} \quad (7)$$

This differential equation turns out not to be unique. We write

$$\begin{cases} a_0(x) := a_0(n, \alpha, x), & n = 0, 1, 2, \dots, \\ a_i(x) := a_i(\alpha, x), & i = 1, 2, 3, \dots \end{cases}$$

If we substitute (6) and (7) in the differential equation (5), then we finally find three equations for the coefficients $\{a_i(x)\}_{i=0}^\infty$ which are equivalent to the following two:

$$\sum_{i=0}^{\infty} a_i(x) D^i P_n^{(\alpha, \alpha)}(x) = \frac{4}{(2\alpha+1)} \binom{n+2\alpha}{n} \frac{d^2}{dx^2} P_n^{(\alpha, \alpha)}(x)$$

and

$$\sum_{i=0}^{\infty} i a_i(x) D^i P_n^{(\alpha, \alpha)}(x) + x \sum_{i=0}^{\infty} a_i(x) D^{i+1} P_n^{(\alpha, \alpha)}(x) = 4 \binom{n+2\alpha+1}{n-1} \frac{d^2}{dx^2} P_n^{(\alpha, \alpha)}(x).$$

We introduce the notation

$$\begin{cases} a_0(n, \alpha, x) = a_0(1, \alpha, x) b_0(n, \alpha, x) + c_0(n, \alpha, x), & n = 0, 1, 2, \dots, \\ a_i(\alpha, x) = a_0(1, \alpha, x) b_i(\alpha, x) + c_i(\alpha, x), & i = 1, 2, 3, \dots \end{cases}$$

Now $a_0(1, \alpha, x)$ is arbitrary, but $\{b_i(x)\}_{i=0}^\infty$ and $\{c_i(x)\}_{i=0}^\infty$ are uniquely determined. The explicit form of these coefficients is given in the two theorems below.

Theorem 4. *The polynomials $\{P_n^{\alpha, \alpha, M, M}(x)\}_{n=0}^\infty$ satisfy the linear infinite-order differential equation given by*

$$\sum_{i=0}^{\infty} b_i(x) y^{(i)}(x) = 0,$$

where

$$\begin{cases} b_0(x) := b_0(n, \alpha, x) = \frac{1}{2} [1 - (-1)^n], & n = 0, 1, 2, \dots, \\ b_i(x) := b_i(\alpha, x) = \frac{2^{i-1}}{i!} (-x)^i, & i = 1, 2, 3, \dots \end{cases}$$

Now we come to our main result.

Theorem 5. *The polynomials $\{P_n^{\alpha, \alpha, M, M}(x)\}_{n=0}^\infty$ satisfy the differential equation given by*

$$M \sum_{i=0}^{\infty} c_i(x) y^{(i)}(x) + (1-x^2) y''(x) - 2(\alpha+1) x y'(x) + n(n+2\alpha+1) y(x) = 0,$$

where the coefficients $\{c_i(x)\}_{i=0}^{\infty}$ are defined by

$$c_0(x) := c_0(n, \alpha, x) = 4(2\alpha + 3) \binom{n + 2\alpha + 2}{n - 2}, \quad n = 0, 1, 2, \dots,$$

and

$$c_i(x) = (2\alpha + 3)(1 - x^2)c_i^*(x), \quad i = 1, 2, 3, \dots,$$

where

$$\begin{cases} c_1^*(x) := c_1^*(\alpha, x) = 0, \\ c_i^*(x) := c_i^*(\alpha, x) = \frac{2^i}{i!} \sum_{k=0}^{i-2} \binom{\alpha + 1}{i - k - 2} \binom{i - 2\alpha - 5}{k} \left(\frac{1 - x}{2}\right)^k, \quad i = 2, 3, 4, \dots \end{cases}$$

We remark that this theorem implies that if α is a nonnegative integer, the polynomials $\{P_n^{\alpha, \alpha, M, M}(x)\}_{n=0}^{\infty}$ satisfy a linear differential equation of formal order $2\alpha + 4$.

Finally, we note that, since

$${}_2F_1\left(\begin{matrix} -i + 1, \alpha + \frac{5}{2} - i \\ \frac{1}{2} \end{matrix} \middle| 1\right) = \frac{(-\alpha - 2 + i)_{i-1}}{(\frac{1}{2})_{i-1}}, \quad i = 1, 2, 3, \dots,$$

and

$${}_2F_1\left(\begin{matrix} -i + 1, \alpha + \frac{5}{2} - i \\ \frac{3}{2} \end{matrix} \middle| 1\right) = \frac{(-\alpha - 1 + i)_{i-1}}{(\frac{3}{2})_{i-1}}, \quad i = 1, 2, 3, \dots,$$

we have

$$\begin{aligned} \sum_{i=1}^{\infty} c_{2i}^*(\alpha, -1) &= \sum_{i=1}^{\infty} \frac{4}{(\frac{1}{2})_i (1)_i 4^i} \frac{(-\alpha - 1)_{i-1}}{(i-1)!} \frac{(-\alpha - 2 + i)_{i-1}}{(\frac{1}{2})_{i-1}} \\ &= 2 \sum_{i=0}^{\infty} \frac{(-\alpha - 1)_i (-\alpha - 1 + i)_i}{i! (\frac{3}{2})_i (2)_i (\frac{1}{2})_i} \left(\frac{1}{4}\right)^i = 2 \sum_{i=0}^{\infty} \frac{(-\alpha - 1)_{2i}}{(2i)! (3)_{2i}} 2^{2i} \end{aligned}$$

and

$$\begin{aligned} \sum_{i=0}^{\infty} c_{2i+1}^*(\alpha, -1) &= - \sum_{i=1}^{\infty} \frac{8(\alpha + 1)}{(1)_i (\frac{3}{2})_i 4^i} \frac{(-\alpha)_{i-1}}{(i-1)!} \frac{(-\alpha - 1 + i)_{i-1}}{(\frac{3}{2})_{i-1}} \\ &= -\frac{4}{3}(\alpha + 1) \sum_{i=0}^{\infty} \frac{(-\alpha)_i (-\alpha + i)_i}{i! (2)_i (\frac{3}{2})_i} \left(\frac{1}{4}\right)^i \\ &= -\frac{4}{3}(\alpha + 1) \sum_{i=0}^{\infty} \frac{(-\alpha)_{2i}}{(2i+1)! (4)_{2i}} 2^{2i} = 2 \sum_{i=0}^{\infty} \frac{(-\alpha - 1)_{2i+1}}{(2i+1)! (3)_{2i+1}} 2^{2i+1}. \end{aligned}$$

In the same way we find

$$\sum_{i=1}^{\infty} c_{2i}^*(\alpha, 1) = 2 \sum_{i=0}^{\infty} \frac{(-\alpha - 1)_{2i}}{(2i)! (3)_{2i}} 2^{2i}$$

and

$$\sum_{i=0}^{\infty} c_{2i+1}^*(\alpha, 1) = -2 \sum_{i=0}^{\infty} \frac{(-\alpha-1)_{2i+1}}{(2i+1)!(3)_{2i+1}} 2^{2i+1}.$$

This implies that

$$\begin{aligned} \sum_{i=1}^{\infty} c_i^*(\alpha, -1) &= \sum_{i=1}^{\infty} c_{2i}^*(\alpha, -1) + \sum_{i=0}^{\infty} c_{2i+1}^*(\alpha, -1) \\ &= 2 \sum_{i=0}^{\infty} \frac{(-\alpha-1)_i}{i!(3)_i} 2^i = {}_2F_1\left(-\alpha-1 \middle| 2\right) \end{aligned}$$

and

$$\begin{aligned} \sum_{i=1}^{\infty} c_i^*(\alpha, 1) &= \sum_{i=1}^{\infty} c_{2i}^*(\alpha, 1) + \sum_{i=0}^{\infty} c_{2i+1}^*(\alpha, 1) \\ &= 2 \sum_{i=0}^{\infty} \frac{(-\alpha-1)_i}{i!(3)_i} (-2)^i = {}_2F_1\left(-\alpha-1 \middle| -2\right). \end{aligned}$$

Remark. The proof of Theorem 5 will be given in [5]. Further we remark that this result proves one of the conjectures in [1].

Acknowledgements

The author wishes to thank Professors Desmond Evans, Norrie Everitt and Lance Littlejohn for their invitation to visit Cardiff, where the formulas of Theorem 5 were found.

Further he wishes to thank his uncle Jan Koekoek for his valuable remarks after reading the first version of this paper.

References

- [1] W.N. Everitt and L.L. Littlejohn, Orthogonal polynomials and spectral theory: a survey, in: C. Brezinski, L. Gori and A. Ronveaux, Eds., *Orthogonal Polynomials and their Applications*, IMACS Ann. Comput. Appl. Math. **9** (Baltzer, Basel, 1991) 21–55.
- [2] J. Koekoek and R. Koekoek, On a differential equation for Koornwinder's generalized Laguerre polynomials, *Proc. Amer. Math. Soc.* **112** (1991) 1045–1054.
- [3] R. Koekoek, Generalizations of the classical Laguerre polynomials and some q -analogues, Thesis, 1990.
- [4] R. Koekoek, The search for differential equations for orthogonal polynomials by using computers, Report no. 91-55, Delft Univ. Technology, 1991.
- [5] R. Koekoek, Differential equations for symmetric generalized ultraspherical polynomials, Report no. 92-08, Delft Univ. Technology, 1992; submitted.
- [6] R. Koekoek and H.G. Meijer, A generalization of Laguerre polynomials, *SIAM J. Math. Anal.* **24** (1993) 768–782.
- [7] T.H. Koornwinder, Orthogonal polynomials with weight function $(1-x)^\alpha(1+x)^\beta + M\delta(x+1) + N\delta(x-1)$, *Canad. Math. Bull.* **27** (2) (1984) 205–214.